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	VARIABLE
	VARIABLE DESCRIPTION
	VALUE

LABELS
	MISSING

VALUES
	FORM/EXAM
	QUESTION NUMBER

	Idno
	Participant ID number - Anthropometry
	
	
	Anthropometry
	

	anthdid2
	Data Entry ID:
	
	
	Anthropometry
	

	anthrid2
	Reviewer ID:
	
	
	Anthropometry
	

	anthtid2
	Technician ID:
	
	
	Anthropometry
	

	htcm2
	Height cm
	
	
	Anthropometry
	1a

	htmodp2
	Height: was there a modification in protocol?
	0=NO

1=YES
	
	Anthropometry
	1b

	wtlb2
	Weight lbs
	
	
	Anthropometry
	1c

	wtmodp2
	Weight: was there a modification in protocol?
	0=NO

1=YES
	
	Anthropometry
	2b

	hipcm2
	Hip cm
	
	
	Anthropometry
	3b

	hwmodp2
	Girths: was there a modification in protocol?
	0=NO

1=YES
	
	Anthropometry
	3c

	waistcm2
	Waist cm
	
	
	Anthropometry
	3a

	anthtxt2
	Comments/modifications to the protocol:  Specify
	
	
	Anthropometry
	4a

	Cmtmodp2
	Comments/modifications to the protocol?
	0=NO

1=YES
	
	Anthropometry
	4

	BMI2C
	Body mass index (wtlb2*0.4536) / ((htcm2/100)^2)
	
	
	
	COMPUTED

	BMICAT2C
	BMI2C < 25
BMICAT2C =1

25 <= BMI2C < 30 BMICAT2C =2

30 <= BMI2C < 40 BMICAT2C =3

BMI2C >= 40 
BMICAT2C =4
	1 = Normal

2 = Grade 1 Overweight

3 = Grade 2 Overweight

4 = Grade 3 Overweight
	
	
	COMPUTED

	BSA2C
	BSA2C = 0.20247*((htcm2/100)^(0.725))*((wtlb2*0.4536)^(0.425))
(^ indicates the value of the exponent; e.g., the second term in the equation is height(m) to the 0.725 power):
	
	
	
	COMPUTED

	visitdt2
	Visit Date (from Cover)
	
	
	
	

	anthdt2
	Anthropometry date
	
	
	Anthropometry
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